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D�PRGQ�J IRU VRPH D� Q � 1� $ V\VWHP 5 RI UHVLGXH VHWV LV D FRYHULQJ V\VWHP
LI WKH XQLRQ RI LWV PHPEHUV HTXDOV =� $ V\VWHP 5 RI UHVLGXH VHWV LV LQFRQJUXHQW
LI WKH PRGXOL Q RI LWV PHPEHUV DUH PXWXDOO\ GLVWLQFW�
7KH DXWKRUV GLVFXVV WKH SUREOHP RI H[LVWHQFH RI LQFRQJUXHQW FRYHULQJ V\VWHPV
RI UHVLGXH VHWV ZKHUH WZR UHVLGXH VHWV LQWHUVHFW RQO\ LI WKHLU PRGXOL DUH UHODWLYHO\
SULPH� ,Q SDUWLFXODU WKH\ VKRZ WKDW IRU VXFK LQFRQJUXHQW FRYHULQJ V\VWHPV WKH
QXPEHU RI SULPHV GLYLGLQJ WKH O�F�P RI WKH PRGXOL RI WKH UHVLGXH VHWV LQ WKH
V\VWHP PXVW EH DW OHDVW zYH�
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H[LVWHQFH RI LQFRQJUXHQW FRYHULQJ V\VWHPV RI UHVLGXH VHWV� QXPEHU RI SULPHV
GLYLGLQJ WKH O�F�P RI WKH PRGXOL
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